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• A vector perpendicular to Ƹ𝑖 + Ƹ𝑗 + ෠𝑘 is

1. Ƹi − Ƹj + ෠k

2. Ƹi − Ƹj − ෠k

3. − Ƹi − Ƹj − ෠k

4. 3 Ƹi + 2 Ƹj − 5෠k



• Out of the following set of forces, the resultant of which cannot 
be zero?

1. 10, 10, 10

2. 10, 10, 20

3. 10, 20, 20

4. 10, 20, 40



• The ratio of maximum and minimum magnitudes of the resultant 
of two vectors Ԧ𝑎 𝑎𝑛𝑑 𝑏 is 3 : 1. Now Ԧ𝑎 is equal to

1. b

2. 2 b

3. 3 b

4. 4 b



• Two forces, each equal to F, act as shown in Fig. Their resultant 
is 

1. F/2

2. F

3. 3 F

4. 5 F

60°

F

F



• Vector Ԧ𝐴 is 2 cm long and is 60° above the x – axis in the first 
quadrant. Vector 𝐵 is 2 cm long and is 60° below the x – axis in 
the fourth quadrant. The sum Ԧ𝐴 + 𝐵 is a vector of magnitude

1. 2 cm along positive y – axis 

2. 2 cm along positive x – axis

3. 2 cm along negative y – axis 

4. 2 cm along negative x – axis 



• What is the angle between two vector forces of equal magnitude 
such that their resultant is one – third of either of the original 
forces?

1. cos−1 −
17

18

2. cos−1 −
1

3

3. 45°

4. 120°



• The angle between Ԧ𝐴 + 𝐵 and Ԧ𝐴 × 𝐵 is 

1. 0

2. π/4

3. π/2

4. π



• The projection of a vector Ԧ𝑟 = 3 Ƹi + Ƹj + ෠k on the x – y plane has 
magnitude

1. 3

2. 4

3. 14

4. 10



• If Ԧ𝐴 + 𝐵 = Ԧ𝐴 = 𝐵 , then the angle between Ԧ𝐴 and 𝐵 is 

1. 120°

2. 60°

3. 90°

4. 0°



• If vector Ԧ𝐴 = Ƹi + 2 Ƹj + 4෠k and 𝐵 = 5 Ƹi represent the two sides of a 
triangle, then the third side of the triangle can have length equal 
to 

1. 6

2. 56

3. Both of the above

4. None of the above



• Three vectors Ԧ𝐴, 𝐵, Ԧ𝐶 satisfy the relation Ԧ𝐴. 𝐵 = 0 and Ԧ𝐴. Ԧ𝐶 =
0. The vector Ԧ𝐴 is parallel to 

1. B

2. C

3. B. C

4. B × C



• The angle which the vector Ԧ𝐴 = 2 Ƹi + 3 Ƹj makes with the y – axis 
where Ƹi and Ƹj are unit vectors along x – and y – axes respectively, 
is

1. cos−1
3

5

2. cos−1
2

3

3. tan−1
2

3

4. sin−1
2

3



• Two vectors Ԧ𝑎 𝑎𝑛𝑑 𝑏 are such that Ԧ𝑎 + 𝑏 = Ԧ𝑎 − 𝑏 . What is 

the angle between Ԧ𝑎 and 𝑏 ?

1. 0°

2. 90°

3. 60°

4. 180°



• Given Ԧ𝐴 = 2 Ƹi + 𝑝 Ƹj + 𝑞෠k 𝑎𝑛𝑑 𝐵 = 5 Ƹi + 7 Ƹj + 3෠k. If Ԧ𝐴 ||𝐵, then 
the values of p and q are, respectively,

1.
14

5
and

6

5

2.
14

3
and

6

5

3.
6

5
and

1

3

4.
3

4
and

1

4



• If Ԧ𝐴 is perpendicular to 𝐵, then

1. A × B = 0

2. A. B = AB

3. A. A + B = A2

4. A. A + B = A2 + AB




